- You should hand me the answers to Week 3 at the beginning of Wednesday’s lecture (March 30).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 3 in bold at the beginning of your answers.

L5: The role of the central bank in guaranteeing full-employment
1.“AD growth is a necessary but not a sufficient condition for output growth.” Do you agree? Explain.

2.Explain how the Fed’s monetary policy contributed to the increase in aggregate demand that took place in the US between 2002 and 2007.

3. That Fed’s monetary policy eventually led to problems. Which problems? Explain.
4. a) What happened to AD after Sep 08?

b) Explain the successive declines in demand, output, incomes and the money stock that took place over the period Sep 08-june 09.

Chapter 2: How FP and MP can guarantee FE under all circumstances

L6: Beginning of chapter 2

1.Explain how monetary policy works in non-liquidity trap times.

2. Explain why fiscal policy has been needed to fight the consequences of the Great Recession of 2008-9.

3. Why hasn´t fiscal policy been used then?
4. Which is the main thesis that will be put forward in the following lectures?

5. a) Explain how Japan has kept the economy near full-employment over the past 25 years.

b) What was the effect on the debt-to-GDP ratio?

c) Has this been a problem? Explain.

6.Explain how a government loan through the issue of bonds works, from the birth to the death of the bonds.

7. Suppose investors suddenly sell $500b of US Treasury Bonds and, in response, the Fed buys up all that debt.

a) What is the objective of that response? Explain.
b) Indicate the effects on the balance sheets of the four agents affected by that response.
c) Why will banks be left with excess reserves?
d) Will banks use their excess reserves to expand credit to the economy? Explain.

8.  “The US and the Portuguese debt-to-GDP ratios are very not different from each other. However, in May 2010 the Portuguese government did not have the instrument the US government has to prevent an increase in the interest rate on its debt.” Do you agree? Explain.
